					Engineer	's Estimate	Beheler Excavating Inc. (not local)		
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$100.00	\$100.00	\$200.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$0.00	\$2.26	\$55,333.84
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$460.00	\$460.00	\$4,600.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$200.00	\$200.00	\$5,200.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$4.15	\$2.00	\$22,601.25
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$95.00	\$95.00	\$162,070.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$110.00	\$110.00	\$39,160.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$4.00	\$4.00	\$43,320.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$400.00	\$400.00	\$800.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$0.00	\$80,000.00	\$80,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$2.00	\$2.00	\$21,048.00
12	632	Detector Loop, As Per Plan	б	EA	\$3,100.00	\$18,600.00	\$1,500.00	\$1,500.00	\$18,000.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$3.65	\$3.65	\$9,475.40
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$1,100.00	\$1,100.00	\$2,200.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$31.50	\$44.00	\$297,847.50
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$36.00	\$43.50	\$1,032,864.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$200.00	\$200.00	\$4,000.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$150.00	\$10.00	\$12,000.00
19	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$0.60	\$0.40	\$3,000.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$990.00	\$250.00	\$84,320.00
21	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$1,260.00	\$275.00	\$46,050.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$500.00	\$800.00	\$279,500.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$600.00	\$900.00	\$265,500.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$350.00	\$1,500.00	\$1,850.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$600.00	\$800.00	\$1,400.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$1,500.00	\$2,500.00	\$4,000.00
27	805	6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$2,500.00	\$5,000.00	\$7,500.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$70.00	\$25.00	\$37,240.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$100.00	\$25.00	\$1,750.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,500.00	\$500.00	\$96,000.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$250.00	\$125.00	\$4,125.00

					Engineer	's Estimate	Behele	r Excavating l	inc. (not local)
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$280.00	\$125.00	\$6,885.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$320.00	\$125.00	\$2,670.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$360.00	\$150.00	\$1,020.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$2.00	\$2.00	\$800.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$40.00	\$20.00	\$1,020.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$500.00	\$1,500.00	\$16,000.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$135.00	\$135.00	\$394,200.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$30.00	\$30.00	\$21,060.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$500.00	\$1,200.00	\$17,000.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$0.00	\$16,000.00	\$16,000.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$3.00	\$3.00	\$7,788.00
			SUBT	'OTAL:		\$3,832,015.65			\$3,127,397.99
		CONT	INGENCY	(15%):		\$574,802.35			\$469,109.70
			GRAND T	OTAL:		\$4,406,818.00			\$3,596,507.69
		% DIFFERENCE FROM ENGIN	IEER'S EST	IMATE					-18.4%
		% DIFFERENCE WITHIN	LOWEST B	IDDER					N/A
		Contr	act Complia	nce No.				30-0160262	(11/21/19, MAJ, 3956)
		Applicable Loan Forms Included? (B10	-						yes
<u>.</u>		H (1. Fixed roundi	ng on continge	ncy. 2. Sub, MP Dory,	
				Bid Book used:		CC# expires 12		5 / 5/	
					FBE:	1.0%	FBE (SEPI):		1.0%
					MBE:		MBE (Garcia S	urveyors):	1.3%

					Engineer	s Estimate	Underg	ound Utilities, Inc	c. (not local)
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$350.00	\$150.00	\$500.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$1.75	\$0.75	\$61,210.00
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$560.00	\$240.00	\$4,000.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$420.00	\$180.00	\$7,800.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.68	\$0.72	\$8,820.00
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$120.40	\$51.60	\$146,716.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$139.30	\$59.70	\$35,422.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$8.40	\$3.60	\$64,980.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$245.00	\$105.00	\$350.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$10,500.00	\$4,500.00	\$15,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$0.07	\$0.03	\$526.20
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$1,260.00	\$540.00	\$10,800.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$3.50	\$1.50	\$6,490.00
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$420.00	\$180.00	\$600.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$77.00	\$33.00	\$433,950.00
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$87.78	\$37.62	\$1,629,196.80
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$280.00	\$120.00	\$4,000.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$7.00	\$3.00	\$750.00
19	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$0.35	\$0.15	\$1,500.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$840.00	\$360.00	\$81,600.00
21	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$1,050.00	\$450.00	\$45,000.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$560.00	\$240.00	\$172,000.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$910.00	\$390.00	\$230,100.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$1,120.00	\$480.00	\$1,600.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$1,120.00	\$480.00	\$1,600.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$5,600.00	\$2,400.00	\$8,000.00
27	805	6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$4,900.00	\$2,100.00	\$7,000.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$49.00	\$21.00	\$27,440.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$35.00	\$15.00	\$700.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,470.00	\$630.00	\$100,800.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$35.00	\$15.00	\$550.00

					Engineer'	s Estimate	Undergr	ound Utilities, In	c. (not local)
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$35.00	\$15.00	\$850.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$35.00	\$15.00	\$300.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$35.00	\$15.00	\$100.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$7.00	\$3.00	\$2,000.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$28.00	\$12.00	\$680.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$350.00	\$150.00	\$4,000.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$140.00	\$60.00	\$292,000.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$58.80	\$25.20	\$29,484.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$280.00	\$120.00	\$4,000.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$2,100.00	\$900.00	\$3,000.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$0.70	\$0.30	\$1,298.00
_			SUBT	OTAL:		\$3,832,015.65			\$3,446,713.00
		CONT	INGENCY	(15%):		\$574,802.35			\$517,006.95
			GRAND T	OTAL:		\$4,406,818.00			\$3,963,719.95
		% DIFFERENCE FROM ENGIN	EER'S EST	IMATE					-10.1%
		% DIFFERENCE WITHIN	BIDDER					10.2%	
		Contr	ance No.			34-1248942 (3/15/19, MAJ, 65			
		Applicable Loan Forms Included? (B10	2.3, 13)			Need 12.2 form for MBE firm or GFE			

FBE: MBE: 1.0% FBE: 1.3% MBE: *only listed Rath (WBE/EDGE) @ 2.3%

					Engineer	s Estimate		Danbert, Inc	
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$0.00	\$545.00	\$545.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$0.00	\$2.60	\$63,658.40
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$54.00	\$300.00	\$1,770.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$109.00	\$300.00	\$5,317.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.60	\$1.00	\$9,555.00
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$143.00	\$40.00	\$156,099.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$113.00	\$100.00	\$37,914.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$6.00	\$6.00	\$64,980.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$122.00	\$500.00	\$622.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$0.00	\$117,136.00	\$117,136.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$0.00	\$1.00	\$5,262.00
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$1,795.00	\$1,000.00	\$16,770.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$0.40	\$2.00	\$3,115.20
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$991.00	\$100.00	\$1,091.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$51.00	\$50.00	\$398,445.00
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$54.00	\$50.00	\$1,351,168.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$77.00	\$300.00	\$3,770.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$79.00	\$70.00	\$11,175.00
19	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$1.55	\$3.00	\$13,650.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$447.00	\$1,000.00	\$98,396.00
21	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$728.00	\$1,000.00	\$51,840.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$235.00	\$1,000.00	\$265,525.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$735.00	\$1,000.00	\$307,095.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$1,109.00	\$1,000.00	\$2,109.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$978.00	\$1,000.00	\$1,978.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$1,017.00	\$7,000.00	\$8,017.00
27	805	6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$2,141.00	\$8,000.00	\$10,141.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$11.00	\$70.00	\$31,752.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$75.00	\$10.00	\$1,190.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,041.00	\$1,000.00	\$97,968.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$251.00	\$200.00	\$4,961.00

					Engineer'	s Estimate		Danbert, Inc	;
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$297.00	\$200.00	\$8,449.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$315.00	\$200.00	\$3,090.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$351.00	\$200.00	\$1,102.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$34.00	\$10.00	\$8,800.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$61.00	\$50.00	\$1,887.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$109.00	\$800.00	\$7,272.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$142.00	\$100.00	\$353,320.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$15.00	\$50.00	\$22,815.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$718.00	\$100.00	\$8,180.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$0.00	\$1,091.00	\$1,091.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$0.70	\$1.00	\$2,206.60
			SUBT	OTAL:		\$3,832,015.65			\$3,561,227.20
		CONT	INGENCY	(15%):		\$574,802.35			\$534,184.08
			GRAND T	OTAL:		\$4,406,818.00			\$4,095,411.28
		% DIFFERENCE FROM ENGIN	EER'S EST	TIMATE					-7.1%
		% DIFFERENCE WITHIN	LOWEST E	BIDDER					13.9%
		Contr	act Complia	ance No.				31-1029004	(7/6/18, MAJ, 4618)
		Applicable Loan Forms Included? (B10	, 11, 12.2, 1	2.3, 13)					yes

FBE:	1.0% FBE (JN Graham):	1.5%
MBE:	1.3% MBE (MBE):	1.5%

					Engineer'	s Estimate	5	Shelly & Sands, I	nc.
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$0.00	\$350.00	\$350.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$0.00	\$2.40	\$58,761.60
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$300.00	\$300.00	\$3,000.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$312.50	\$312.50	\$8,125.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.20	\$1.20	\$8,820.00
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$84.00	\$84.00	\$143,304.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$97.50	\$97.50	\$34,710.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$2.50	\$2.50	\$27,075.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$75.00	\$75.00	\$150.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$20,000.00	\$455,000.00	\$475,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$1.50	\$1.50	\$15,786.00
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$850.00	\$850.00	\$10,200.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$1.25	\$1.25	\$3,245.00
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$600.00	\$600.00	\$1,200.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$41.17	\$41.18	\$324,870.75
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$43.00	\$43.00	\$1,117,312.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$200.00	\$200.00	\$4,000.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$57.50	\$57.50	\$8,625.00
10	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$107.00	\$9,000.00	\$1.40	\$1.40	\$8,023.00
20	802	6" Valve & Appurtenances	5,000 68	EA	\$3.00	\$9,000.00	\$1.40	\$500.00	\$68,000.00
20	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$600.00	\$600.00	\$36,000.00
21	802	3/4" Water Service Xfr'd (Short)	215	EA	\$1,782.00	\$292,400.00	\$800.00	\$800.00	\$30,000.00
22	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$975.00	\$975.00	\$345,150.00
23	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$1,300.00	\$1,300.00	\$2,600.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$1,250.00	\$1,250.00	\$2,500.00
25	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$3,125.00	\$3,125.00	\$2,500.00
20	805	6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$3,000.00	\$3,000.00	\$6,000.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$32.50	\$32.50	\$25,480.00
28	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$125.00	\$125.00	\$3,500.00
30	805	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,154.00	\$1,154.00	\$110,784.00
31	*810	6" Fire Hydrant Extension	40	EA	\$420.00	\$4,620.00	\$312.50	\$312.50	\$6,875.00
51	010		11		ψτ20.00	ψ 1 ,020.00	ψ512.50	ψ512.50	ψ0,075.00

					Engineer'	s Estimate	S	Shelly & Sands, II	nc.
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$350.00	\$350.00	\$11,900.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$362.50	\$362.50	\$4,350.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$450.00	\$450.00	\$1,800.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$25.00	\$25.00	\$10,000.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$30.00	\$30.00	\$1,020.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$200.00	\$200.00	\$3,200.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$97.50	\$97.50	\$284,700.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$30.00	\$30.00	\$21,060.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$350.00	\$350.00	\$7,000.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$1,000.00	\$34,000.00	\$35,000.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$0.50	\$0.50	\$1,298.00
		CONT	SUBT INGENCY GRAND T			\$3,832,015.65 \$574,802.35 \$4,406,818.00			\$3,591,401.35 \$538,710.20 \$4,130,111.55
		% DIFFERENCE FROM ENGIN % DIFFERENCE WITHIN Contr Applicable Loan Forms Included? (B10	LOWEST E act Complia	BIDDER ance No.			31-	-4351261 (exp. 12	-6.3% 14.8% /23/17, MAJ, 6043)

FBE:	1.0%
MBE:	1.3%

					Engineer	's Estimate	Dar	by Creek Excavat	ing, Inc
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$0.00	\$300.00	\$300.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$0.00	\$2.40	\$58,761.60
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$250.00	\$250.00	\$2,500.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$300.00	\$300.00	\$7,800.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.25	\$1.25	\$9,187.50
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$150.00	\$50.00	\$170,600.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$160.00	\$50.00	\$37,380.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$5.00	\$5.00	\$54,150.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$200.00	\$130.00	\$330.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$65,000.00	\$200,000.00	\$265,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$1.00	\$1.00	\$10,524.00
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$1,450.00	\$1,450.00	\$17,400.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$2.50	\$2.50	\$6,490.00
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$660.00	\$660.00	\$1,320.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$50.00	\$45.00	\$374,775.00
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$53.00	\$50.00	\$1,338,176.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$375.00	\$375.00	\$7,500.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$80.00	\$20.00	\$7,500.00
19	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$1.60	\$1.60	\$9,600.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$1,300.00	\$105.00	\$95,540.00
21	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$1,500.00	\$194.00	\$50,820.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$355.00	\$355.00	\$152,650.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$670.00	\$670.00	\$237,180.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$1,200.00	\$1,000.00	\$2,200.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$1,500.00	\$1,000.00	\$2,500.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$5,000.00	\$10,000.00	\$15,000.00
27		6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$5,000.00	\$10,000.00	\$15,000.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$32.00	\$32.00	\$25,088.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$32.00	\$33.00	\$910.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,500.00	\$500.00	\$96,000.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$200.00	\$60.00	\$2,860.00

					Engineer	's Estimate	Dar	Darby Creek Excavating, Inc		
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension	
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$246.00	\$60.00	\$5,202.00	
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$265.00	\$60.00	\$1,950.00	
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$300.00	\$60.00	\$720.00	
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$0.00	\$5.00	\$1,000.00	
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$30.00	\$30.00	\$1,020.00	
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$640.00	\$640.00	\$10,240.00	
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$164.00	\$164.00	\$478,880.00	
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$0.00	\$60.00	\$21,060.00	
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$600.00	\$200.00	\$8,000.00	
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$0.00	\$12,000.00	\$12,000.00	
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$1.00	\$1.00	\$2,596.00	
		CONT	SUBT INGENCY GRAND T	· · · ·		\$3,832,015.65 \$574,802.35 \$4,406,818.00			\$3,617,710.10 \$542,656.52 \$4,160,366.62	
		% DIFFERENCE FROM ENGIN							-5.6%	
		% DIFFERENCE WITHIN Contr	LOWEST E act Complia					31-1345111 (2	15.7% 2/19/18, MAJ, 5129)	
		Applicable Loan Forms Included? (B10	12.3, 13)				Bids not ev	valuated; not within		
					Bid Book used					

FBE:	1.0%
MBE:	1.3%

					Engineer'	s Estimate	Elite E	xcavating Co. of (Dhio, Inc.
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$90.00	\$60.00	\$150.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$1.50	\$1.00	\$61,210.00
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$450.00	\$300.00	\$3,750.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$450.00	\$300.00	\$9,750.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.50	\$1.00	\$9,187.50
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$102.00	\$68.00	\$145,010.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$120.00	\$80.00	\$35,600.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$7.00	\$5.00	\$64,980.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$180.00	\$120.00	\$300.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$60,000.00	\$40,000.00	\$100,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$10.00	\$7.00	\$89,454.00
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$1,800.00	\$1,200.00	\$18,000.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$6.00	\$4.00	\$12,980.00
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$720.00	\$480.00	\$1,200.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$55.00	\$37.00	\$362,940.00
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$55.00	\$37.00	\$1,195,264.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$450.00	\$300.00	\$7,500.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$60.00	\$40.00	\$7,500.00
10	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$0.60	\$0.40	\$3,000.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$720.00	\$480.00	\$81,600.00
20	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$1,020.00	\$680.00	\$51,000.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$810.00	\$540.00	\$290,250.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$990.00	\$660.00	\$292,050.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$1,500.00	\$1,000.00	\$2,500.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$1,080.00	\$720.00	\$1,800.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$4,200.00	\$2,800.00	\$7,000.00
27	805	6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$4,200.00	\$2,800.00	\$7,000.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$300.00	\$200.00	\$196,000.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$300.00	\$200.00	\$7,000.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,860.00	\$1,240.00	\$148,800.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$225.00	\$150.00	\$4,125.00

					Engineer'	s Estimate	Elite E	xcavating Co. of	Ohio, Inc.
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$255.00	\$170.00	\$7,225.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$285.00	\$190.00	\$2,850.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$300.00	\$200.00	\$1,000.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$15.00	\$10.00	\$5,000.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$30.00	\$20.00	\$850.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$780.00	\$520.00	\$10,400.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$150.00	\$100.00	\$365,000.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$60.00	\$40.00	\$35,100.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$300.00	\$200.00	\$5,000.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$9,000.00	\$6,000.00	\$15,000.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$4.00	\$2.00	\$7,788.00
SUBTOTAL: CONTINGENCY (15%): GRAND TOTAL:					\$3,832,015.65 \$574,802.35 \$4,406,818.00			\$3,672,113.50 \$550,817.03 \$4,222,930.53	
% DIFFERENCE FROM ENGINEER'S ESTIMATE % DIFFERENCE WITHIN LOWEST BIDDER Contract Compliance No. Applicable Loan Forms Included? (B10, 11, 12.2, 12.3, 13)							· · · ·	-4.2% 17.4% . 6/22/19, MAJ, 1064)	
	Bid Book used:						10% of lowest, resp	oonsive bidder.	

FBE:	1.0%
MBE:	1.3%

					Engineer	s Estimate	Comp	lete General Con	struction
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 4" Size	1	EA	\$300.00	\$300.00	\$420.00	\$280.00	\$700.00
2	254	Pavement Planning, Asphalt Concrete	24,484	SY	\$2.40	\$58,761.60	\$1.44	\$0.96	\$58,761.60
		Driveway Pavement Repl., Type IIIA -							
3	259	Asphalt	5	CY	\$660.00	\$3,300.00	\$240.00	\$160.00	\$2,000.00
		Driveway Pavement Repl., Type IIIB -							
4	259	Concrete	13	CY	\$690.00	\$8,970.00	\$306.00	\$204.00	\$6,630.00
5	407	Tack Coat	3,675	GAL	\$2.75	\$10,106.25	\$1.44	\$0.96	\$8,820.00
		Asphalt Concrete Surface Course							
6	448	(Medium Traffic), PG64-22M	853	CY	\$200.00	\$170,600.00	\$100.80	\$67.20	\$143,304.00
		Asphalt Concrete Surface Course							
7	448	(Medium Traffic), PG70-22M	178	CY	\$270.00	\$48,060.00	\$117.00	\$78.00	\$34,710.00
8	608	Concrete Walk (4")	5,415	SF	\$12.00	\$64,980.00	\$3.60	\$2.40	\$32,490.00
9	608	Detectable Warning Type E	1	EA	\$500.00	\$500.00	\$132.00	\$88.00	\$220.00
10	614	Maintaining Traffic	1	LS	\$125,000.00	\$125,000.00	\$60,000.00	\$40,000.00	\$100,000.00
11	615	Temporary Pavement	5,262	SY	\$7.00	\$36,834.00	\$9.00	\$6.00	\$78,930.00
12	632	Detector Loop, As Per Plan	6	EA	\$3,100.00	\$18,600.00	\$1,233.00	\$822.00	\$12,330.00
13	659	Seeding & Mulching	1,298	SY	\$10.00	\$12,980.00	\$1.47	\$0.98	\$3,180.10
		Deciduous Tree, 3" Caliper, Blvd.							
14	661	American Linden	1	EA	\$750.00	\$750.00	\$720.00	\$480.00	\$1,200.00
15	801	6" Water Pipe & Fittings	3,945	LF	\$112.00	\$441,840.00	\$57.00	\$38.00	\$374,775.00
16	801	8" Water Pipe & Fittings	12,992	LF	\$106.00	\$1,377,152.00	\$92.40	\$61.60	\$2,000,768.00
17	801	12" Water Pipe & Fittings	10	LF	\$145.00	\$1,450.00	\$165.00	\$110.00	\$2,750.00
18	*801	Concrete Blocking Class C, Incr. or Decr.	75	CY	\$107.00	\$8,025.00	\$66.00	\$44.00	\$8,250.00
19	*801	Ductile Iron Fittings, Incr. or Decr.	3,000	LBS	\$3.00	\$9,000.00	\$1.67	\$1.11	\$8,340.00
20	802	6" Valve & Appurtenances	68	EA	\$1,385.00	\$94,180.00	\$690.00	\$460.00	\$78,200.00
21	802	8" Valve & Appurtenances	30	EA	\$1,782.00	\$53,460.00	\$900.00	\$600.00	\$45,000.00
22	805	3/4" Water Service Xfr'd (Short)	215	EA	\$1,360.00	\$292,400.00	\$1,020.00	\$680.00	\$365,500.00
23	805	3/4" Water Service Xfr'd (Long)	177	EA	\$1,730.00	\$306,210.00	\$1,500.00	\$1,000.00	\$442,500.00
24	805	1" Water Service Xfr'd (Long)	1	EA	\$1,800.00	\$1,800.00	\$2,400.00	\$1,600.00	\$4,000.00
25	805	1-1/2" Water Service Xfr'd (Short)	1	EA	\$2,225.00	\$2,225.00	\$1,740.00	\$1,160.00	\$2,900.00
26	805	3" Water Service Tap Xfr'd (Short)	1	EA	\$7,500.00	\$7,500.00	\$3,150.00	\$2,100.00	\$5,250.00
27		6" Water Service Tap Xfr'd (Short)	1	EA	\$4,650.00	\$4,650.00	\$3,300.00	\$2,200.00	\$5,500.00
28	*805	Curb Box	392	EA	\$115.00	\$45,080.00	\$57.00	\$38.00	\$37,240.00
29	* 805	C.I. Ferrule Valve Box & Cover	14	EA	\$130.00	\$1,820.00	\$90.00	\$60.00	\$2,100.00
30	809	Fire Hydrant	48	EA	\$2,870.00	\$137,760.00	\$1,920.00	\$1,280.00	\$153,600.00
31	*810	6" Fire Hydrant Extension	11	EA	\$420.00	\$4,620.00	\$330.00	\$220.00	\$6,050.00

					Engineer's	s Estimate	Compl	ete General Con	struction
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
32	*810	12" Fire Hydrant Extension	17	EA	\$500.00	\$8,500.00	\$360.00	\$240.00	\$10,200.00
33	*810	18" Fire Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$375.00	\$250.00	\$3,750.00
34	*810	24" Fire Hydrant Extension	2	EA	\$595.00	\$1,190.00	\$411.00	\$274.00	\$1,370.00
35	*811	Incr. or Decr. in Excavation & Backfill	200	CY	\$40.00	\$8,000.00	\$30.00	\$20.00	\$10,000.00
36	815	Crushed Stone or Gravel	17	CY	\$63.00	\$1,071.00	\$48.00	\$32.00	\$1,360.00
37	816	2" Water Main Abandoned	8	EA	\$720.00	\$5,760.00	\$300.00	\$200.00	\$4,000.00
38	SPEC	Permanent Pavement	1,460	CY	\$270.00	\$394,200.00	\$223.50	\$149.00	\$543,850.00
39	SPEC	Heat Weld	351	SY	\$115.00	\$40,365.00	\$36.00	\$24.00	\$21,060.00
40	SPEC	Project Identification Signs	10	EA	\$775.00	\$7,750.00	\$450.00	\$300.00	\$7,500.00
41	SPEC	Survey Coordinates	1	LS	\$10,150.00	\$10,150.00	\$12,000.00	\$8,000.00	\$20,000.00
42	SPEC	Temporary Seeding & Mulching	1,298	SY	\$2.10	\$2,725.80	\$0.60	\$0.40	\$1,298.00
			SUBT	OTAL:		\$3,832,015.65			\$4,650,386.70
		CONT	INGENCY	(15%):		\$574,802.35			\$697,558.01
			GRAND T	OTAL:		\$4,406,818.00			\$5,347,944.71
		% DIFFERENCE FROM ENGIN	EER'S EST	IMATE					21.4%
% DIFFERENCE WITHIN LOWEST BIDDER								48.7%	
Contract Compliance No.						31-4366382 (8/31/19, MAJ, 6056)		
Applicable Loan Forms Included? (B10, 11, 12.2, 12.3, 13)									

FBE:	1.0%
MBE:	1.3%

General Info	
Number:	690236-100076
Description:	SCOTTWOOD ROAD AREA WATER LIINE IMPROVEMENTS
Deadline:	2017-12-20 20:00:00 UTC

Bids	
Business	Bid Total
Beheler Excavating Inc	\$3,596,507.69
Underground Utilities, Inc.	\$3,963,719.95
Danbert, Inc	\$4,095,411.28
Shelly & Sands, Inc.	\$4,130,111.55
Darby Creek Excavating, Inc	\$4,160,366.62
Elite Excavating Co. of Ohio, Inc.	\$4,222,930.53
Complete General Construction	\$5,347,944.71

\$3,596,507.69

Beheler Excavating, Inc.
19545 Ankneytown Rd.
Fredericktown, OH 43019
Dustin Beheler, President
(740) 694-2303
Charla Bowman
charla@behelerexcavating.com

\$3,963,719.95

Underground Utilities, Inc.			
416 W. Monroe St.			
P.O. Box 428			
Monroeville, OH 44847			
John A. Bores, President			
(419) 465-2587 x128			
general@undergrour	general@undergroundutilitiesinc.com		

\$4,095,411.28

Danbert, Inc.				
8077 Memorial Dr.				
Plain City, OH 43064				
Matthew Lemon, President				
(614) 873-4677				
mlemon@danbertinc.com				
Joseph D. Reinhard,	Secy / V.P.			